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CoqIDE Proof Assistant

Coglde
BxvAaIazome
o *scratch* | « coq7saly

pertorms complete i1induction on n.

Lemma main_thm_aux: forall (m : nat) (n : nat),
n<m
-> forall p, n * n = double (p * p) -> p = 0.
Proof.
induction m.

The instructor encourages students to try both approaches.
*)

Theorem main_thm: forall (n p : nat), n * n = double (p * p) -> p = 0.
Proof.
intro n@.
apply (1t _wf_ind n® (fun (n:nat) => forall p:nat, n * n = double (p * p) ->p = 0)).
clear n@.
intros m H.
destruct m.
(*n=10 %)
intros p H'.
destruct p.
reflexivity.
inversion H'.
(*n >0, n=2k *)
remember (S m) as n.
destruct (even or_odd n) as [H1 | H2].
intros p H'.
rewrite <- even square in H'.
apply double inv in H'.
assert (even p).
apply even_is even times even.
rewrite <- H'.
apply double even.

Ready Line: 214 Char: 14  Coglde started
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